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9l =%1787] 195, 880
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2,762,000

14,067,390

13,845,000

222,390

4,024,120

4,024,120

= ) ii;
20163t A = A ES=AALA

darel | k@ | At
59,158,000 62,185,620 61,432,580
3,749,000 3,749,000 3,126,720
2,000,000 2,000,000 1,380,000
1,749,000 1,749,000 1,746,720
55,409,000 58,436,620 58,305,860
55,409,000 58,436,620 58,305,860
408,254,000/ 410,011,000/ 404,969,330
159,378,000 159,378,000 158,560, 100
159,378,000 159,378,000 158,560,100

105,233,890

i)

i
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2016813 = M| &2 AA

A+
of Ak o4 of| Ak & o A A=V %
w9 A5
1.8Fw-g-%3 | = 105,233,890
2. 72489 = 14,974,920
1.8mL ) = 14,974,920
3.3 7] &3 = 25,680,000
1. U FYH = 25,680,000
4. 932 = 11,654,290
1.8 L) = 11,654,290
5. Al 17 1] = 1,017,000
1.91734] = 1,017,000
2,857 #g 12,415,000, 12,415,000, 10,673,530
1.8 a2 9 1B 7 ok 7hg) 8,443,000 8,443,000 8,177,830
1. 57438 = 3,038,440
1,883 n = 2,030,440
2. 8] F 751 = 1,008,000
2. A AL AA} = 1,358,870
1.8t 990 = 1,358,870
3. 8F kA F A 3 1) = 780,520
1.8k a - n) = 780,520
4. FA TS = 3,000,000
1.3t &9 = 3,000,000
2.3t 34 9 A 3,972,000 3,972,000 2,495,700
L9 =89 = 2,000,700
1.8t H| = 2,000,700
2. 3NA=A = 495,000
1.8t = 495,000
3. WA} A 201,901,000/ 201,901,000 201,375,820
1.3 A0« 93,437,000| 93,437,000, 93,437,000
132924 = 93,437,000
2 wael 1 2017-04-14




2016813 = M| &2 AA

A+
of Ak o4 of| Ak & o A A=V %
e A5
1.8Fw-g-%3 | = 93,437,000
2.8 RS Eu A 57,740,000 57,740,000/ 57,740,000
1.9 3} & 8w 0 -2-8) %] Y = 17,190,000
1.8t 990 = 17,190,000
2. 58w 9du A = 40,550,000
1.8t 990 = 40,550,000
3. AgA A skEn A 973,000 973,000 973,000
LagAgeEAd = 973,000
1.8 w9 = 973,000
4.7 3782 A 49,751,000]  49,751,000| 49,225,820
1. A e A28 A 49,225,820
49,225,820
4.8 8 34,560,000/  36,317,000] 34,359,880
1.3 2229 34,560,000/ 36,317,000 34,359,880
1. 8F A 9] = 16,809,350
1.8t 990 = 16,809,350
2.5 A= -G = 7,487,530
1.8 39 9| = 7,487,530
3.5 S Ak A AR 7 1] = 9,304,000
1.91749] = 8,536,000
2.8 &g = 768,000
4. 55K U FA-E EHH = 759,000
1.8t H| = 759,000
A w&EE 139,627,000 139,627,000 136,997,970
1. g5 106,092,000, 106,092,000/ 103,693,420
A RS 18,190,000/ 18,190,000 17,452,850
1.35E0 219 = 7,497,870
1.89-9H| = 7,497,870

3 dkajel : 2017-04-14




2016813 = M| &2 AA

A+
of Ak o4 of| Ak & o A A=V %
A5
2. 15852 Y = 2,814,980
1.8+ 991 = 2,814,980
3. HAF AT = 1,170,000
1.8t 990 = 1,170,000
4. =7 By TR = 5,190,000
1.8t &9 = 5,190,000
5.3 WAL = 780,000
1.8t n = 780,000
2. %3tu 3 s 3,900,000 3,900,000 3,885,800
185249 = 2,599,000
1.8Fw-g-%3 | = 2,599,000
2. 03¢ = 1,286,800
1.8t &) = 1,286,800
3.4 &3} 35 881,000 881,000 880,100
1. 334 = 880,100
1.8 99N = 880,100
4. EFuguies 3,520,000 3,520,000 3,414,160
R = 3,017,900
1.8t n| = 2,571,900
2. Q471 = 50,000
3.8 F 5] = 396,000
2. 8550 EX Y = 396,260
1.8t H| = 396,260
5.5 nas 79,601,000/ 79,601,000 78,060,510
1. 27A¢Hd e = 758,380
1.8ta S g n) = 758,380
2. WFTE TR = 798,000
1.8ta S g n) = 798,000

4 dkajel : 2017-04-14




2016813 = M| &2 AA

A+
of Ak o4 of| Ak & o A A=V %
A4 | & A5

3. WAL = 600,000

1.8t g9 = 600,000

4.3 08FE = 1,549,960

1.8t 990 = 1,549,960

5.3 4 € = 3,814,000

1.8t &9 = 3,180,000

2. 91 F 751 = 634,000

6. AR = 3,827,960

1.8 w9 = 3,827,960

7.9 YL EH Y = 4,703,000

1.8t &) = 4,703,000

8. A = 6,431,710

1.8t &) = 2,762,850

2.9 750 = 3,668,860

9.8t 5 N EX Y = 3,175,680

1.3t &9 = 3,175,680

10, 23529 = 3,176,000

1.8 39 9| = 3,176,000

11572 A A = 26,851,540

1.8k m$-gn) = 26,851,540

12. 72 A 52 = 22,374,280

1.8 9-9n| = 22,374,280

2. %94 AYdLF 33,535,000/ 33,535,000 33,304,550
1L.AEEF 13,376,000/ 13,376,000, 13,372,000

1.4 713 = 1,425,320

1.8 089 H) = 1,425,320

2.5 3] = 2,369,400

1.89-9H| = 2,369,400

3 whagel 1 2017-04-14




2016813 = M| &2 AA

A+
of Ak o4 of| Ak & o A A=V %
A5

3.3 A 3] = 928,600
1.8 w99 = 928,600
4.3} 3] (FA]) = 5,398,680
1.8t &9 = 5,398,680
5.8 3 1557 = 3,250,000
1.8t &9 = 3,250,000

Ad5ds 14,892,000, 14,892,000/ 14,890,600
1. 84385 = 6,703,200
1.8 w9 = 6,703,200
2.578}o 9 = 5,151,400
1.8Fw-g-%3 | = 5,151,400
3.7uFE = 3,036,000
1,883 n = 3,036,000

ot#] &5 5,267,000 5,267,000 5,041,950
1.3a2daAgF = 1,291,000
1.3t &9 = 1,291,000
2.8 AE2EHSE = 3,750,950
1.8 39 9| = 3,750,950

80,415,000/  80,415,000| 80,376,730

b 68,630,000/  68,630,000] 68,592,520

-8kl 27,080,000/  27,080,000| 27,080,000
103y &9 = 22,080,000
1.8t H| = 22,080,000
PIAER = b At e = 5,000,000
1.8 w99 = 5,000,000

RSN 41,550,000/ 41,550,000/ 41,512,520
1,228 = 40,515,320
1.3-8-9H = 40,515,320
6 wael 1 2017-04-14




2016813 = M| &2 AA

A+
of Ak o4 of| Ak & o A A=V %
A5
2. 5FWAAADEN = 997,200
1.8 w99 = 597,200
2. Q4753 = 400,000
EXEE 11,785,000, 11,785,000/ 11,784,210
1.5/ 85 11,785,000, 11,785,000/ 11,784,210
15479 = 6,287,320
1. HF Y H = 6,287,320
2.5 = 4,159,890
1.8 w9 = 4,159,890
3. =91 & = 1,337,000
1.8t &) = 1,337,000
159,583,000, 163,083,000 155,321,330
o 13,192,000, 13,192,000/ 13,062,250
BFAL-&- A 13,192,000 13,192,000, 13,062,250
JRRTE 18 = 6,875,320
1.3t &9 = 6,875,320
2. WAL = 537,000
1.8 39 9| = 537,000
3. YA LEHY = 2,395,600
1.8 39 9| = 2,395,600
4.3 744 % = 2,306,330
1.8 9-9n| = 2,306,330
5.3 48F = 948,000
1.8t Q) = 948,000
% 32,000,000/ 32,000,000 31,924,070
a9 32,000,000/ 32,000,000 31,924,070
1. 828189 = 31,924,070
1.8k 9o = 29,324,850

7 kel ¢ 2017-04-14




20168t A = A S A ALA
9 )
A+
of Ak o4 of| Ak & o A A=
A5
2. 47 F3 2,599,220
%3 12,451,000 12,451,000 12,439,020
RR| 1,800,000 1,800,000 1,798,920
=9 = 1,798,920
8399 | 1,798,920
2.7 1.3l 9 10,651,000, 10,651,000/ 10,640,100
WA K3 10,640,100
Sl d v = 2,755,500
H F 7Y H| 7,488,600
ERA A 5] = 396,000
%l 50,783,000 50,783,000/ 49,510,240
1.3 7| Al 50,783,000/ 50,783,000/ 49,510,240
1. A A7 23,682,000
a4 v 8,800,000
2. 9] F 5] 14,882,000
27 70 25,828,240
1. HF Y H 25,828,240
51,157,000 54,657,000/ 48,385,750
Z & o 50,204,000 53,704,000/ 47,433,650
| AR R RTIA 43,033,650
1.8t g 43,033,650
2 & = 3,600,000
1.8t g9 3,600,000
g LY = 800,000
1.8hag-9d | 800,000
k& 953,000 953,000 952,100
A= 952,100
1.8ta S g n) = 952,100
8 kel o 2017-04-14




20168t A = A S A ALA
9 )
A+
of Ak e of| Ak & o A ] =
A5
186,576,000 186,576,000 166,935,320
fA 123,188,000 123,188,000 108,895,600
Pl A A ) A 123,188,000 123,188,000 108,895,600
21,418,270
21,418,270
34,964,270
34,964,270
900,000
1. 900,000
23,602,600
23,602,600
18,836,460
18,836,460
3,124,000
3,124,000
6,050,000
6,050,000
EE 3,360,000 3,360,000 3,193,550
A R 2,120,000 2,120,000 1,960,000
1,960,000
780,000
1,180,000
nmyy 1,240,000 1,240,000 1,233,550
1,233,550
996,950
= 236,600
9 60,028,000/ 60,028,000 54,846,170
1LEYA71EE9 41,215,000| 41,215,000 37,469,740
9 kel o 2017-04-14




2016813 = M| &2 AA

A+
of Ak o4 of| Ak & o A9 A=V %
A5

1. 0728 = 20,023,250
1.8+ 991 = 17,845,770
2. 4700 = 1,249,000
3. HE TS = 928,480
2. 044eY = 6,590,700
1.8t - n) = 1,586,200
2. 4F 7 = 5,004,500
3.} = 10,855,790
1.8 w9 = 9,566,890
2. 947530 = 338,900
3.81F 5] = 950,000

A7 2D 18,813,000( 18,813,000, 17,376,430
1298 = 9,106,200
1.8 = 7,906,200
2. 4F 7] = 320,000
3.HE 750 = 880,000
2. 35 L FRANA F I = 3,191,430
1.3t -<H] = 3,191,430
3. A1 dnkete = 5,078,800
1.3u9-9H| = 5,078,800

=3 1,033,613,000| 1,041,897 ,620| 1,006,033,260
10 kel o 2017-04-14




